
n∏
i=1

Gi abelsch ⇔ ∀ i ∈ {1, . . . n} : Gi ist abelsch

” ⇒ ” Annahme: ∃ i0 ∈ {1, . . . n} : Gi0 ist nicht abelsch

→ ∃ ai0 , bi0 ∈ Gi0 : ai0 · bi0 ̸= bi0 · ai0
→ (e1, . . . , ai0 , . . . en) · (e1, . . . , bi0 , . . . en) = (e1, . . . , ai0 · bi0 , . . . en)

̸= (e1, . . . , bi0 · ai0 , . . . en)
= (e1, . . . , bi0 , . . . en) · (e1, . . . , ai0 , . . . en)

⇒
n∏

i=1

Gi ist nicht abelsch.

” ⇐ ” Seien g, h ∈
n∏

i=1

Gi :

g · h = (g1, . . . , gn) · (h1, . . . , hn)

= (g1h1, . . . , gnhn)

V oraussetzung
= (h1g1, . . . , hngn)

= (h1, . . . , hn) · (g1, . . . , gn)
⇒

n∏
i=1

Gi ist abelsch.


